3K H 2HEEEE * =
S 2013512 A 8H(H) 1000 [ REaBh | 50 %3 | 256% & fi A2 IR v — 1y
X 1% i | EvFikiE ATZ 2EEZ | RE\ EAC 5 mE |
I F I\ K& HIES R B&
— Bl = B EEKRE 8x8 | 2N BE
BER B/ BELR 4 12k B 0 Eik SRR EX
vyj ] ' E A 4
BRAAE |7t O | _BEEEXE
KICK OFF ! _ _ C_KICK OF
X K <a—Fhk 5 . El & |& = a—k X K
&5 5 sleo[aral 2FR |5l & |5| BFE |60 P |
0 FE BRE | 21|GK|GK]| 46 0
34 0 A {E—8&F |25|DF|DF| 14 1 1
0 BE 08 27| DF|DF| 12 0
1 1 ER #HE 26 | DF]DF| 61 0 16
0 INER EX | 29|DF|DF| 34 0
1 121 INE AR 30 [ MFIMF| 21 0
0 ZIL FEk 31 |MF|MF][ 29 0 25
1] 1 IR K | 32|MFIMF] 70 0
1 11 R —& 33 [MFIMF[ 17 0
1i1]2 BAXR KiE 35 |FW|FwW]| 15 0 25
34 0 AU B— 34 [FW]FwW| 18 0
25 0 R 5— 38| DF|DF| 23 61
34 1 1] 1 R EEHE | 37 |FWIMF| 59 29
Fw| 27 15
Z Z .| 5 E B E B Z % -5 5
B | EBH K & BfE | B/ K %
3A&B|.24KH F—L&E 1248 B34 H
8 15 23 [ a—F 2 1 1
1 9 10 G K 22 15 7
5 5 10 C K 5 3 2
1 3 4 BEEFK 8 4 4
0 0 0 fEfEFK 6 3 3
0 0 0 | G7H4M) 6 3 3
1 1 2 P K 0 0 0
Hm&]

CEN) A7V AFRDERFIL. BET ) —FvIBDI5. A THAFIZEHBDERL TS,

LRIGEREH] S1:FLFRERT LA S2EREITH. S3DIEME, S48 AMSHIE(F) . S5:5 SHERFELE (fh) . S6:{EF ., cS:Z &2

| F—L S 7 AR BARB (~:FYT L.~ ISR, 1 FEH/SR, S: Va—h H:ATFALY)
1 BX |30 /MR & PK i 30 iHES

14 BX [33i m# —&F |29 hMRAB BEX -1 27 LRSS H 33 28yFLLE | ARS
45 BX |37F #E ER -1 32 ~ - HRES




